103

TRV AKBETF 25MPa

S a%74%—(KCT)

+ $156C~S45C

& {fitg FLd
P AXT i@ | E A H : s
" S-6X1/8 440 414 | 14 | 7 28 | 34.5
S-6X1/4 450 | 4 | 17 | 14 | 7 33 | 375
S-8X1/8 500 4|17 | 17 | 7 29 | 355
S-8X1/4 470 | 6 | 17 | 17 | 7 33 | 375
S-10X1/4 510 7 |17 | 19 | 7 33 | 38,5
S-10X3/8 560 8 | 19 | 19 | 7 34 | 39
S-10X1/2 630 8 | 22 | 19 | 7 39 | 425
S-12X1/4 580 7|19 | 22 | 7 33 | 38,5
S-12X3/8 570 9 | 19 | 22 | 7 34 | 39
S-12X1/2 680 10 | 24 | 22 | 7 39 | 425
S-15X3/8 750 9 | 24 | 27 | 75| 37 |43
S-15X1/2 760 | 12 | 24 | 27 | 75| 41 | 455
S-16X3/8 800 9| 27 | 30 | 75| 37 |43
S-16X1/2 800 12 | 27 | 30 | 75| 41 | 455
S-18X3/8 980 9 | 27 [ 32 | 8 37 | 43
S-18X1/2 980 | 12 | 27 | 32 | 8 41 | 455
S-20%X1/2 1,000 | 12 | 30 | 36 | 8 43 | 47.5
S-20X3/4 1,000 | 16 | 30 | 36 | 8 45 | 48
S-22X1/2 1,060 | 12 | 32 | 36 | 9 43 | 475
S-22X3/4 1,280 16 | 32 | 36 | 9 45 | 48
S-25X3/4 1,340 | 16 | 36 | 41 | 10 46 | 50
S-25X1 1,340 | 20 | 36 | 41 | 10 49 | 52
S-28X3/4 1,650 | 16 | 41 | 46 | 10 48 | 52.5
S-28X1 1,650 | 22 | 41 | 46 | 10 51 | 54.5
S-30X1 1,960 | 22 | 41 | 46 | 10 51 | 55
S-30X11/4| 2,430 | 25 | 46 | 46 | 10 55 | 57
S-32X11/4| 2,550 | 26 | 46 | 50 | 11 55 | 57
S-35X11/4| 2,840 | 28 | 46 | 55 | 11 55 | 60
S-38X11/2| 3,400 | 32 | 50 | 60 | 12 57 | 64
S-40X11/2| 4140 | 32 | 55 | 60 | 12 62 | 69
S-42X11/2| 4,300 | 34 | 55 | 60 | 12 62 | 69
S-50X2 5310 | 40 | 65 | 75 | 12 71 | 76.5
SMP60



TRV AKBETF 25MPa

SA XAx7%— (KSA)

+ S15C~S845C

& {ifi#& H1 H FL&

. AXT 118 L (#9)
1] SA-6X1/8 480 | 17 | 14 [ 355
\ SA-8X1/4 520 | 19 | 17 [405
L SA-10X1/4 580 | 19 [ 19 [415

: SA-10X3/8 660 | 24 | 19 [435

1 . q% SA-12X1/4 680 | 19 [ 22 [415
SA-12X3/8 710 | 24 | 22 [435

SA-15X3/8 | 1,080 | 24 | 27 |46.5

H, N SA-15X1/2 | 1,900 | 30 | 27 [51.5

IR A SA-16X1/2 | 1,280 | 30 | 30 |51.5

SA-18X1/2 1,420 | 30 32 | 515

SA-20X3/4 1,590 | 36 36 | 53.5

SA-22X3/4 1,780 | 36 36 | 53.5

SA-25X3/4 1,890 | 36 41 | 545

SA-25X1 1,960 | 46 41 | 58.5
SA-28X1 2,260 [ 46 46 | 61
SA-30X1 2,540 [ 46 46 | 61.5

SA-30X11/4| 2,970 [ 55 46 | 65.5

SA-32X11/4| 3,280 | 55 50 | 65.5

SA-35X11/4| 3,640 | 55 55 | 68.5

JC FREEfT/ v (KSS)

+ S15C~845C

L {li+& 5

A ><§ @ | | H2 | H T(l?'?) N
JC-6X1/8 1,130 17 17 14 42.5 | M12X1.5
e - ) JC-8X1/4 1,250 19 19 17 42.5 | M14X1.5
| JC-10X1/4 1,350 19 22 19 43.5 | M16X1.5
JC-10X3/8 1,480 24 22 19 43.5 | M16X1.5
JC-12X1/4 1,430 19 24 22 43.5 | M18X1.5
JC-12X3/8 1,540 24 24 22 43.5 | M18X1.5
JC-15X3/8 2,090 24 27 27 49.5 | M22X1.5
JC-15X1/2 2,540 30 27 27 49.5 | M22X1.5
JC-16X1/2 2,690 30 30 30 49.5 | M24X1.5
L JC-18X1/2 2,700 30 32 32 51.5 | M26X1.5
JC-20X3/4 2,910 36 32 36 51.5 | M28X1.5
JC-22X3/4 3,000 36 36 36 51.5 | M30X1.5
JC-25X3/4 3,090 41 41 41 52.5 | M35X1.5
JC-25X1 3,460 46 41 41 52.5 | M35X1.5
JC-28X1 3,750 46 46 46 55 M38X1.5
JC-30X1 3,870 46 46 46 55.5 | M40X1.5
JC-30X11/4 4,620 55 46 46 55.5 | M40X1.5
JC-32X11/4 5,070 55 46 50 57.5 | M42X1.5

SMP60

104



105

TRV AKBETF 25MPa

E 90° /LK (KLN)

~ + S15C~S45C

m & fii & FLo| (#)

AXT 18 E E1 h H | 2 L) | L1
E-6X1/8 870 4 4 14 14 7 20 | 30.5| 14
E-6X1/4 870 4 7 17 14 7 23 | 33.5 |17
E-8X1/8 900 6 4 17 17 7 23 | 33,516
E-8X1/4 900 6 7 17 17 7 23 | 33.5|18
E-10X1/4 940 8 7 17 19 7 23 | 34519
E-10X3/8 960 8 9 19 19 7 24 | 35.5|19.5
E-10X1/2 1,230 8 | 12 24 19 7 29 | 40.5]| 26
E-12X1/4 990 | 10 7 19 22 7 24 |1 35,520
E-12X3/8 990 [ 10 9 19 22 7 24 | 35.5| 20.5
E-12X1/2 1,140 [ 10 | 12 24 22 7 29 | 40.5| 26
E-15X3/8 1,240 | 12 9 | 24 27 75| 29 | 415|235
E-15X1/2 1,240 | 12 | 12 24 27 75| 29 | 415 26
E-16X3/8 1,440 | 13 9 | 27 30 75| 32 | 445 | 25.5
E-16X1/2 1,440 [ 13 | 12 27 30 75| 32 | 445 27
E-18X3/8 1,650 | 14 9 | 27 32 8 32 | 445|275
E-18X1/2 1,650 | 14 | 12 27 32 8 32 |44.5| 30
E-20X1/2 1,830 | 17 | 12 30 36 8 33 | 45.5| 32
E-20X3/4 1,830 | 17 | 16 | 30 36 8 33 | 45.5| 30.5
E-22X1/2 2100 | 18 | 12 32 36 9 34 | 46.5| 32
E-22X3/4 2,100 | 18 | 16 | 32 36 9 34 | 46.5| 32.5
E-25X3/4 2,490 | 20 | 16 | 36 41 |10 36 | 49.5| 33.5
E-25X1 2,490 | 20 | 22 36 41 |10 36 | 49.5| 35.5
E-28X3/4 2,740 | 22 | 16 | M 46 | 10 41 | 55 37.5
E-28X1 2,740 | 22 | 22 41 46 | 10 41 | 55 39.5
E-30X1 3,330 | 25 | 22 41 46 | 10 41 | 55.5 | 39.5
E-30X11/4| 4,010 25 | 31 46 46 | 10 46 | 60.5 | 42.5
E-32X11/4| 4,370 | 26 | 31 46 50 | 11 46 | 60.5| 43.5
E-35X11/4| 4,700 [ 28 | 31 46 55 | 11 46 | 63.5| 45.5
E-38X11/2| 5,990 ( 32 | 36 | 50 60 | 12 50 | 69.5| 48.5

SMP60



TRV AKBETF 25MPa

Ja1=F (KUA)

+ $156C~S45C

& fifi e FUs
A Mm | M e

. J-6 640 | 14 | 14 | 30 | 51
o J-8 680 | 17 | 17 | 31 | 52
I o S J-10 760 | 17 | 19 | 31 | 54
=) J-12 840 | 19 | 22 | 31 | 54

i l»m| 4 J-15 1130 | 24 | 27 | 36 | 61

J-16 1,360 | 27 | 30 | 36 | 61

A J-18 1,590 | 27 | 32 | 36 | 61
) J-20 1,660 | 30 | 36 | 38 | 63
J-22 1,910 | 32 | 36 | 38 | 63
J-25 2,370 | 36 | 41 | 39 | 66

J-28 2580 | 41 | 46 | 43 | T
J-30 3,090 | 41 | 46 | 43 | 72
J-32 3,690 | 46 | 50 | 44 | 73
J-35 4,280 | 46 | 55 | 44 | 79
J-38 4,940 | 50 | 60 | 46 | 85
J-40 5820 55 | 60 | 55 | 94
J-42 6,060 | 55 | 60 | 55 | 94
J-50 7,520 | 65 | 75 | 60 | 103
JA [RE&HSI1I=_7F > (KSU) - $15C~S45C

& {ifitg FU& (#9)

A§ - B O e ey N
. e JA-6 1,110 | 17 | 14 | 42.5 | 29.5 | M12X1.5
T JA-8 1,350 | 19 | 17 | 42.5 | 29.5 | M14X1.5
# ™ JA-10 1,490 | 22 | 19 | 435 | 31.5 | M16X1.5
n - JA-12 1,620 | 24 | 22 | 435 | 31.5 | M18X1.5
I T m% JA-15 2,150 | 27 | 27 [ 49.5 | 34.5 | M22X1.5
JA-16 2,520 | 30 | 30 | 49.5 | 36.5 | M24X1.5
JA-18 2,720 | 32 | 32 | 51.5 | 36.5 | M26X1.5
i mo ha [Tja20 2,860 | 32 | 36 | 51.5 | 36.5 | M28X1.5
L. L JA-22 3,120 | 36 | 36 | 51.5 | 37.5 | M30X1.5
JA-25 3,520 | 41 | 41 | 525 38.5 | M35X1.5
JA-28 4,230 | 46 | 46 |55 |42 | M38X1.5
JA-30 4,440 | 46 | 46 | 555 | 42.5 | M40X1.5
JA-32 5610 | 50 | 50 | 57.5 | 44.5 | M42X1.5
JA-35 6,320 | 50 | 55 | 60.5 | 47.5 | M45X1.5
JA-38 7,720 | 55 | 60 | 64.5 | 50.5 | M48X1.5

JA-40 9,060 | 60 | 60 | 69.5 | 56.5 | M52X2

JA-50 12,120 | 70 | 75 | 71.5 | 64.5 | M64X2

SMP60

106



107

TRV AKBETF 25MPa

L31=F2IIEK(KLA)

EA ALK (KLF)

=
[

+ S15C~845C

5 = {ifit& H 2 FU&
A 118 L (£9)
L-6 1,130 | 14 | 20 |30.5
L-8 1,190 | 17 | 23 | 335
L-10 1,280 | 19 | 23 | 34.5
L-12 1,360 | 22 | 24 | 355
L-15 1,700 | 27 | 29 | 415
L-16 1,970 | 30 | 32 | 445
L-18 2,260 | 32 | 32 | 445
L-20 2,370 | 36 | 33 | 455
L-22 2,690 | 36 | 34 |46.5
L-25 2,940 | 41 | 36 |495
L-28 3,750 | 46 | 41 |55
L-30 4260 | 46 | 41 |55.5
L-32 5,360 | 50 | 45 |59.5
L-35 5,860 | 55 | 46 |63.5
L-38 6,880 | 60 | 50 |69.5
L-40 7,900 | 60 | 55 |74.5
L-42 8,030 | 60 | 55 |74.5
L-50 10,920 | 75 | 62 |83.5
+ 815C~S45C
S fifit& - ’ FL&
AXT 118 L (#9)
EA-8X1/4 1,200 | 17 | 24 | 345
EA-10X1/4 | 1,250 | 19 | 24 | 355
EA-12X1/4 | 1,280 | 22 | 24 | 355
EA-12X3/8 | 1,500 | 22 | 29 | 40.5
EA-15X3/8 | 1,780 | 27 | 29 |41.5
EA-15X1/2 | 2,260 | 27 | 33 | 455
EA-16X1/2 | 2,460 | 30 | 33 | 455
EA-18X1/2 | 2510 | 32 | 33 | 455
EA-20X3/4 | 2,990 [ 36 | 36 | 48.5
EA-22X3/4 | 3,110 36 | 36 | 485
EA-25X3/4 | 3,140 41 | 36 | 495
EA-25X1 4260 | 41 | 46 |59.5
EA-28X1 4,470 | 46 | 46 |60
EA-30X11/4| 5,400 | 46 | 55 | 69.5
EA-32X11/4| 5,780 | 50 | 55 | 69.5
EA-35X11/4| 6,160 | 55 | 55 | 72.5
SMP60



TRV AKBETF 25MPa

F 71— (KTN)

SMP60

- S15C~S45C
m & {ifif& FUoH| (%)
AXT mw | E B H ' L L) (L1
F-6X1/8 1310| 4 | 4 | 14 | 7 | 20 | 305 14
F-6X1/4 1340 4 | 7 | 14 | 7 | 23 | 33517
F-8X1/8 1490| 6| 4 | 17 | 7 | 23 | 335] 16
F-8X1/4 1490| 6| 7 |17 | 7 | 23 | 33518
F10X1/4 | 1,600 8 | 7 | 19 | 7 | 23 | 34519
F10X3/8 | 1660| 8 | 9 | 19 | 7 | 24 | 355 195
F12X1/4 | 1,770 | 10 | 7 | 22 | 7 | 24 | 35518
F12X3/8 | 1,770 | 10 | 9 | 22 | 7 | 24 | 355] 205
F15X3/8 | 2130 | 12 | 9 | 27 | 75| 29 |41.5| 235
F15X1/2 | 2130 | 12 | 12 | 27 | 75| 29 |41.5| 26
F16X1/2 | 2,990 | 13 | 12 | 30 | 7.5| 32 | 445 27
F18X1/2 | 3100 | 14 | 12 | 32 | 8 | 32 | 445 30
F-20X3/4 | 3,420 | 17 | 16 | 36 | 8 | 33 | 45.5 | 30.5
F-22X3/4 | 3,880 | 18 | 16 | 36 | 9 | 34 | 465 325
F-25X3/4 | 4530| 20 | 16 | 41 |10 | 36 | 495 335
F-25X1 4530 | 20 | 22 | 41 |10 | 36 | 495] 355
F-28X1 5150 | 22 | 22 | 46 |10 | 41 |55 | 395
F-30X1 5380 | 25 | 22 | 46 |10 | 41 | 555 39.5
F-30X11/4 | 5900 | 25 | 31 | 46 |10 | 46 | 60.5| 425
F-32X11/4| 7,310 | 26 | 31 | 50 | 11 | 46 | 60.5 | 43.5
F-35X11/4| 8190 | 28 | 31 | 55 | 11 | 46 | 63.5 | 455

108



109

TRV AKBETF 25MPa

Ta1=F71— (KTA)

FA XAF571— (KTH)

+ S15C~S45C

m & {ifit& H s FU
A 118 L (#9)
T-6 1,400 | 14 | 20 | 305
T-8 1,700 | 17 | 23 | 335
T-10 1,830 | 19 | 23 | 345
T-12 2,000 | 22 | 24 | 355
T-15 2370 | 27 | 29 | 415
T-16 2,680 | 30 | 32 | 445
T-18 3,040 | 32 | 32 | 445
T-20 3,230 | 36 | 33 | 455
T-22 3770 | 36 | 34 | 465
T-25 4,460 | 41 | 36 | 495
T-28 4,490 | 46 | 41 |55.0
T-30 5720 | 46 | 41 | 555
T-32 7,080 | 50 | 45 | 59.5
T-35 8,090 | 55 | 46 |63.5
T-38 9,510 | 60 | 50 | 69.5
T-40 10,900 | 60 | 55 | 74.5
T-42 11,000 | 60 | 55 | 745
T-50 14,860 | 75 | 62 | 83.5
- S15C~S45C
wE fii#& n |FLe| |
AXT 118 L) -
FA-8X1/4 1,710 | 17 | 345 | 24
FA-10X1/4 | 1,830 | 19 | 355 | 24
FA-12X1/4 | 2,030 | 22 | 355 | 24
FA-12X3/8 | 2,030 | 22 | 405 | 29
FA-15X3/8 | 2,800 | 27 |415]| 29
FA-15X1/2 | 3170 | 27 | 455 33
FA-16X1/2 | 3,530 | 30 | 455 | 33
FA-18X1/2 | 3,640 | 32 | 455 | 33
FA-20X3/4 | 4,350 | 36 | 48.5| 36
FA-22X3/4 | 4,560 | 36 | 485 | 36
FA-25X3/4 | 4,640 | 41 | 495 | 36
FA-25X1 5880 | 41 |59.5| 46
FA-28X1 6,300 | 46 |60 | 46
FA-30X1 6,540 | 46 | 60.5 | 46
SMP60



TRV AKBETF 25MPa

C 7vbh (KKN)

—u

D R1)—7 (KKO)

+ S15C~845C
& fifi#& T H |FL®
A 11 L (#9)
C-6 220 | M12X1.5| 14 | 15
C-8 220 | M14X1.5| 17 | 15
C-10 260 | M16X1.5| 19 | 16
c-12 270 [ M18X1.5| 22 | 16
c-15 350 | M22X1.5 | 27 |19
C-16 420 | M24X1.5| 30 | 19
Cc-18 510 | M26X1.5 | 32 | 19
C-20 530 | M28X1.5| 36 | 19
Cc-22 560 | M30X1.5| 36 | 19
C-25 630 | M35X1.5 | 41 | 20
Cc-28 750 | M38X1.5 | 46 | 21
C-30 830 | M40X1.5 | 46 | 22
Cc-32 1,020 | M42X1.5| 50 | 22
C-35 1,200 | M45X1.5 | 55 | 25
C-38 1,360 | M48X1.5| 60 | 27
C-40 1,720 | M52X2 60 | 29.5
C-42 1,720 | M52X2 60 | 29.5
C-50 2,320 | M64X2 75 | 31.5
+ S15C~8S45C
2 {iit& ’
A 118
D-6 140 9
D-8 140 9
D-10 150 | 10
D-12 160 | 10
D-15 180 | 10
D-16 210 | 10
D-18 220 | 10
D-20 260 | 10
D-22 340 [ 10
D-25 350 | 11
D-28 420 | 11
D-30 470 | 11
D-32 580 | 11
D-35 660 | 14
D-38 760 | 14
D-40 870 | 14
D-42 980 | 14
D-50 1,410 | 14

110





